COMPARE UNLIKE DENOMINATORS
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Step |




Step 2

* 25 and |25 can be divided by 25
25+25=1 |
125 =25 =5
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Step 3

* Find the fraction of fish over | foot long that you caught this year.
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Over | foot long




Step 4

* |4 and 40 can be divided by.... 2

14+2=7 7
40+2=20 20




Step 5

Which is greater!?

O 7
5 20
Find the Least Common Multiple
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How do I find the
least common
multiple?




What is a multiple?

For example: 8, 16, 24, 32, are all multiples of 8




what is a
COMMON
multiple?




Common Multiple

8 and 16 are

Common |
’ Multiples




what is a LEAST
common
multiple?




The lowest number that is a common multiple

2,14,
jultiples
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Least common

multiple = 8 .




Going back to the fish problem...







The Last Step
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4 <7
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All together now:

Caught Last Year Caught this Year
g | 14 = 7
O

125 = 5 40 — 20
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All together now:

Caught Last Year Caught this Year

.«
125  § 40 20




Last year  Thisyear

4<7
20 20
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‘l'hc fraction of the flsh overa foot long, was more this year than last
year.
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